

## No.12/01/2020-21/Generator/Log GOVERNMENT OF PAKISTAN DIRECTORATE GENERAL, IMMIGRATION & PASSPORTS [HEADQUARTERS] G-8/1, MAUVE AREA, ISLAMABAD

**MANAGER (LOGISTICS)** 

□#: 92-51-9107078
Fax #: 051-9107078

Islamabad the January 8, 2021

To:

Mr. Rizwan Mehmood, Dy. Director (IT/Web),

Public Procurement Regulatory Authority, 1st Floor FBC, Building Near State Bank, Sector G-5/2, Islamabad-Pakistan.

Subject:

EVALUATION REPORT REGARDING PROCUREMENT OF PROCUREMENT OF GENERATORS, UPS BATTERIES, REPAIR OF TRANSFORMER AND SERVICE OF GENERATORS

Please refer to the subject cited above and enclosed herewith the evaluation report regarding Procurement of generators, UPS batteries, repair of transformer and service of generators of Directorate General Immigration & Passports Headquarters, Islamabad.

- 2. It is requested, upload the evaluation report on PPRA website <a href="https://www.ppra.gov.pk">www.ppra.gov.pk</a> at the earliest.
- 2. Your cooperation in this regard will be appreciated.

(Asim Fawad Mirza)
Manager (Logistics)

## (EVALUATION REPORT)

## As per rule 35 of PP Rules, 2004

Name of Procuring Agency:

DIRECTORATE GENERAL IMMIGRATION & PASSPORTS,

ISLAMABAD.

Method of Procuring:

Open Competition bidding Single Stage (Technical + Financial) Two Envelop

Procedure)

Title of Procurement:

PROCUREMENT OF GENERATORS, UPS BATTERIES, REPAIR OF

TRANSFORMER AND SERVICE OF GENERATORS

Tender inquiry No:

No.12/01/2020-21/Generators/Log

PPRA Ref. No. (TSE):

TS426955E

Date & time of bid closing:

11-08-2020 till 11:00hrs

Date & time of bid opening:

11-08-2020 till 11:30hrs

No of bids received:

(04) Four

Criteria for bid evaluation:

Technical qualified and financially lowest bidder.

10. Bids were evaluated as per clause 05 (mandatory eligibility criteria) of tender documents, by the Purchase Committee which is detailed below,

					T PIE			Assessme	ent						
S. No	Company Name	Compan y Profile	NTN/A TL & GST certifica te	members hip of Chamber of Commerc	Proof of Registr ation of SECP	Client list, Equipm ent brochur e/ Data sheet and other relevant docume nts	Bidd er shou ld have servi ce / supp ort mec hani sm.	Copy of bid bond (Earn est Mone y only Copy)	Pro of of min imu m 05 yea rs of exp erie nce of simi lar nat ure	Affidavit (on Rs 20 stamp paper) that the Compan y is neither blacklist ed nor in litigation	equip ment/ Items must be in compli ance with the Techni cal Requir ements /	Finan cial soun dness of the comp any (Mini mum 10 Milli on credit amou nt).	Satisfact ory perform ance certificat es from clients (Govern ment / Semi Govern ment Departm ents./ Autono mous body) must be attached (Minimu m 02	Reliabi lity, warran ty certific ate & after sale suppor t certific ates must be attache d.	Bidde rs are requi red to offer all items of desire d specifications as per Anne xure-II on comp lete lot wise basis.
1	M/s Sherazi Traders	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	yes	yes	Yes	Yes	yes	Yes
2	M/s Millat Tractors Limited	Yes	yes	yes	NO	Yes	Yes	NO	Yes	Yes	Yes	Yes	Yes	Yes	No
3	M/s Unique Electronic s	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
4	M/s Step Internatio nal	Yes	Yes	Yes	Yes	Yes	Yes	yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes

11. As per clause 5 sub clause (d) of the tender documents Proof of registration of SECP is required. M/s Millat tractor has not provided the SECP registration certificate. The said company is registered with Assistant Registrar Joint Stock Company. Moreover as per DG I&P specification i.e. Perkins/Cummins / Caterpillar/ Siemens/ Stamford/ Mec Altee or equivalent brands manufactured UK, USA, Germany, France & Japan provided supplies are 100% compliant to the technical specifications in case of generates, while M/s Millat Tractor has quoted local brand which is not acceptable. The purchase committee then fill the evaluation Performa vide Annex A, the qualifying marks was 70 out of 100, three companies secure the qualifying marks while M/s Millat tractors couldn't secure the qualifying ,marks. In this regard the said company stands disqualified. Three i.e. Sherazi trading, Unique Electronics, and Steps International, stands qualified for further process.

12. The Financial Bids of three (03) Technically Qualified Firms were opened under the Chairmanship of Director (HQ), Members of the purchase committee and representative of technically qualified firms on 18-11-2020. The committee evaluated the financial proposals of the 03 companies according to their respective technically qualified lots. The detail of companies and their respective lots are as under:

SR#	Name of Companies	Qualified Lot		
1	M/S Sherazi Trading	LOT-A (Generators)		
2	M/s Unique	LOT-A (Generators)		
3	M/s Step International	LOT-A (Generators)		

13. The Secretary Purchase committee announced the financial position of the 03 technical qualified firms is as under in comparative statement:

	Sr.	Equipment	Qty	M/s Sher	azi Trading	M/s Unique	Electronics	M	/s Step
	No.			Unit	Total	Unit Rate	Total	Unit	Total
10	1	12KVA Diesel Generators	12	2,476,422	29,717,064	1,655,000	19,860,000		
)T-A	2	Power cable 16mm 4 core) will be charges as per site	1	1,287		600 R.meter	, , , , , ,		
	3	Control Cable 2.5mm 4core will be charges as per site	1	410					
		Total with All Taxes			29,717,064		19,860,000		20,220,00

		COMPERATIVE STATEMENT FO	OR LOT	-B (UPS Batter	ries)		
170	Sr. No.	Equipment	Qty	M/s Unique		M/s S	tep
OT-				Unit Rate	Total	Unit Rate	Total
8	1	Replacement of Maintenance free Dry Batteries	150	6,300	945,000	6100	915,000
2011		Total with All Taxes			945,000		915,000

	Sr. No.	Equipment	Qty	M/s Unique	Electronics	M/s Step In	iternational
				Unit Rate	Total	Unit Rate	Total
L	1	Repairing /rewinding of 200KVA					
LOT-C	2	200KVA, 3 Phase	1				
Ö	3	Coil repairing	job	1115000	1115000	1075000	1075000
	4	Change of Oil					
		Change of Breaker from WAPDA					
		Total with All Taxes			1,115,000		1,075,000

		COMPERATIVE STATEMENT	FOR LOT-D (Se	rvice of Genera	ators)			
TO,	Sr. No.	Equipment	Qty	M/s Uı	nique	M/s	Step	
7				Unit Rate	Total	Unit	Total	

	1	Diesel Engine oil , Delo Gold, DEO 8000, ETC	150	1250	187500	1100	165000
	2	Fuel Filter A (901-249) for 100KVA	04 No.	3500	14000	3100	12400
	3	Fuel Filter B (904-248) for 100KVA	04 No.	4500	18000	4350	17400
ε	4	Oil Filter 2654408 for 100KVA	04 No.	4900	19600	4650	18600
	5	Oil Filter 901-104 for 100KVA	04 No.	4200	16800	3750	15000
	6	Air Filter (901-048) for 100KVA	04 No.	7200	28800	6350	25400
	7	Fuel Filter A (RE509036) for 200KVA	08 No	6000	48000	5740	45920
	8	Fuel Filter B (509032) for 200KVA	08 No	5200	41600	5100	40800
	9	Oil Filter RE-504536 for 200KVA	08 No	4500	36000	3850	30800
	10	Air Filter (AH-1196) for 200KVA	08 No	6000	48000	7800	62400
		Total with All Taxes			458,300		433,720

As per comparative statement, it is shown that out of 03 qualified firms two (02) firms are qualified for 14. different lots on the bases of lowest quoted rates. The following summary depicts the results of financial proposals:

S. No	LOT number	Financially Qualified Firm
1	LOT-A	M/s Unique Electronics
2	LOT-B	M/s Step International
3	LOT-C	M/s Step International
4	Lot-D	M/s Step International

## RECOMMENDATIONS OF PURCHASE COMMITTEE

In view of above, Purchase Committee recommended to issue the work orders to the following 15. companies on the basis of technically qualified and financially lowest bidders, as detail mentioned in para 14/n.

M/s Unique Electronics for (LOT-A)

i. M/s Step International for (LOT-B, LOT-C & LOT-D)

**SIGNATURE** 

ASIM FAWAD MIRZE

Manager (Finance & Lucas)

. Machine Readable Passgorts 17918.

Dte. General Immigration & Passgort
(HO), Islamabad Official Stamp: ......

Standard Bidding Documents (SBD)